L.

2.

47k

PAPER-II
PHYSICAL EDUCATION

Signature and Name of Invigilator

(Signature)
(Name)
(Signature)
(Name)

1

Time : 1/, hours]

OMR Sheet No. :
(To be filled by the Candidate)

Roll No.

(In figures as per admission card)
Roll No.

(In words)

[Maximum Marks : 100

Number of Pages in this Booklet : 16

Number of Questions in this Booklet : 50

=

Instructions for the Candidates

Write your roll number in the space provided on the top of
this page.

This paper consists of fifty multiple-choice type of questions.
At the commencement of examination, the question booklet
will be given to you. In the first 5 minutes, you are requested
to open the booklet and compulsorily examine it as below :
(1) Tohave access to the Question Booklet, tear off the paper
seal on the edge of this cover page. Do not accept a booklet
without sticker-seal and do not accept an open booklet.
Tally the number of pages and number of questions in
the booklet with the information printed on the cover
page. Faulty booklets due to pages/questions missing
or duplicate or not in serial order or any other
discrepancy should be got replaced immediately by a
correct booklet from the invigilator within the period
of 5 minutes. Afterwards, neither the Question Booklet
will be replaced nor any extra time will be given.
After this verification is over, the OMR Sheet Number
should be entered on this Test Booklet.

Each item has four alternative responses marked (A), (B), (C)
and (D). You have to darken the oval as indicated below on the
correct response against each item.

Example: (2> (B @ (D

where (C) is the correct response.

Your responses to the items are to be indicated in the Answer
Sheet given inside the Paper I Booklet only. If you mark at
any place other than in the ovals in the Answer Sheet, it will
not be evaluated.

Read instructions given inside carefully.

Rough Work is to be done in the end of this booklet.

If you write your Name, Roll Number, Phone Number or put
any mark on any part of the Answer Sheet, except for the
space allotted for the relevant entries, which may disclose
your identity, or use abusive language or employ any other
unfair means, you will render yourself liable to disqualification.
You have to return the test question booklet and OMR Answer
sheet to the invigilators at the end of the examination
compulsorily and must not carry it with you outside the
Examination Hall.
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10. Use only Blue/Black Ball point pen.
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PHYSICAL EDUCATION
Paper - 11

Note : This paper contains fifty (50) objective type questions, each question carrying two
(2) marks. Attempt all the questions.

1. Exponent of cathartic theory of plays 6. Newton’s second law of motion is
is known as
(A) Auristotle (A) Law of Inertia
(B) Sigmund Freud (B) Law of Acceleration
(C) Carl-Gros (C) Law of Reaction
(D) Von Schiller (D) Law of Gravitation

7. Mediolateral movement is also
known as

(A) Rotation (B) Adduction
(C) Abduction (D) Flexion

2. By which of the following means do
we acquire values, beliefs and
behaviour patterns ?

(A) Recreation

(B)  Cultural Transmission 8. Kyphosis is the deformity of
(C) Physical Activities vertebral column at
(D) Socialization (A) Thoracic region
(B) Lumbar region
3. Which of the following is known as (C) Cervical region
the Trunk Line of nervous system ? (D) Coccygeal region

(A) Synapse
(B) Spinal cord 9.  The term efflurage is concerned with
(A) Training

(B) Coaching

(C) Exercising

(D) Massaging

(C) Hypothalamus
(D) Ganglia

4. Respiration is controlled by the

respiratory centre located in 10. Which is not the law of learning ?
(A)  Small Brain (A) Law of readiness

(B) Large Brain (B) Law of effect

(C) Mid Brain (C) Law of reaction

(D) Medulla Oblongata (D) Law of exercise

11. Interpersonal conflict among team
mates is generally due to lack of
(A) good will
(B) skill level

(C) hyperventilation (C) efforts

(D) poor flexibility (D) all the above

5.  Cause of muscle cramp is
(A) lack of co-ordination
(B) accumulation of Lactic acid
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12.

13.

14.

15.

16.

17.

Economists are being attracted
towards sports these days due to

(A) Cut throat competition

(B) Media publicity

(C) Growth of sports industries
(D) High stakes on athletes

Teacher’s training in Physical
Education first started in India at

(A) Gwalior (B) Patiala
(C©) Amrawati (D) Madras

The elementary school curriculum
should stress on

(A) Skill Education

(B) Awareness Education
(C) Movement Education
(D) Fun Education

One of the psychosomatic disorders
is

(A) Diabetes

(B) Asthma

(C) Cardiovascular disease
(D) Tuberculosis

Complete combustion of one gram
of fat in our body yields

(A) 9.3 calories
(B) 4.0 calories
(C) 4.3 calories
(D) 8.0 calories

According to principle of specificity
of load a cyclist should do

(A) weight training

(B) cycling

(C) Plyometric training

(D) high altitude training

18.

19.

20.

21.

22,

23.

24,

The descriptive study describes and
interprets

(A) whatitis

(B) what had been

(C) what was

(D) what it will be

Case study does not include
(A) observation

(B) interview

(C) questionnaire

(D) measurement

The square of the standard deviation
is

(A) Mode

(B) Variance

(C) Variability
(D) Standard score

Stadiometer is used to measure
(A) Body weight (B) Height
(C) Flexibility (D) Agility

If the calculated value of t equals the
table value the conclusion is

(A) difference is significant

(B) difference is not significant

(C) inference could not be drawn
(D) indecisive

The best method of
administration is

(A) Autocratic

(B) Democratic

(C) Dictatorial

(D) Laissez-faire

sports

The division for intramurals is done
on the basis of

(A) Inter Class

(B) Inter House

(C) Inter School

(D) Inter Zonal



12.

13.

14.

15.

16.

17.

STTMGIAT T TSR Tl bt 3T
STTHTT BT T T HROTE 2

(A) TIEHIh TR

(B) Hifear R

(C) W 3T o foehrd

(D) Telel W 9 3

IIRIER fT18TT T 3TeaTeht ST UTSTeToT STRA
o AW el I gaT ?

(A) TETeTR (B) dfeamen
(C) 3T (D) T

TR foRrerat qrea=dr i Hefered
T SR S 6T

(A) I e

(B)  STEeha feret

(C)  iciferfer feretr (rerer et fre)
(D)  3THIT-THIS h ferer

oo oo

T TR e faepid Fmfetad & :
(A) =
(B) Ir&mHn

(C) eggaltesht I
(D) .

AN YR § Ueh U o9 % <ed 9 oy
g e

(A) 9.3 FHARS HI

(B) 4.0 AR i

(C) 4.3 FeA &l

(D) 8.0 AR i

R % fanmedr & faam & AR
TETReT TTeTeh i T LT AT ?

(A) ST UrSTeIoT

(B) HTEiehet et

(C) TTaEifeeh URTetor
(D) ogd Fd T W fSTeqor

18.

19.

20.

21.

22,

23.

24,

o oo

I(\OIORUII(“-IGI’) SHedA [+ lllEd Eﬁ E2IEE3]
e e A g

(A) TEeFME

(B) T

(C) =

(D) =& 1 EM

‘&g LI FEfaiad T T8l i
T

(A) 3T

(B) &R

(C) veTEe

(D) #OT

A forae e &

(A) geTh

(B) TR

(C) UREdTeTerdr

(D) HMH @hR

RfeaHieT s =T =1 /1A & fou fomam
ST e ?

(A) IR HT T

(B) =g

(C) e

(D)

g t H URBAT Fod RN T H
TR & ot FTehe eI &

(A) FREAEHE |

(B) =R FA-TEHE |

© <:1vy-||-1:|3°'rcfi*||q|Tr|Tand| |

(D) 3ol |

Tt TG i 53 Ugi €

(A) TSERI

(B) VST

(C) AFTERT (AHTRTE)

(D) Wa=

AT Tl (TEIer) o o T
oy SR W T e ?

(A) i T

(B) Hd: A

(C) 3fa: faamer

(D) 3 TeoT




25.

26.

27.

The best method for
emotions in sports is

(A) Sublimation (B) Inhibition
(C) Re-direction (D) Suppression

training

Match List — I with List — II and
select the answer using the code
given below :

List-1 List - 1I
(a) Realism (1) Auristotle
(b) Pragmatism (2) John Dewey
(¢) Idealism (3) Plato
(d Naturalism (4) Rousseau

(5) Thorndike

Codes :

@ () (© (@
Aa 3 @ 6 @
@ @O @ 3 @
© @ @O @ 6
O @ & @ @

Match List — I with List — II and
select the answer using the code
given below :

List -1 List - 11
(a) Neuron (1) Digestive
system

(b) Alveoli (2) Urinary system
(c) Nephrone (3) Respiratory

system
(d) Villi (4) Nervous
system
(5) Circulatory
system
Codes :

@@ b © @
@ @ 3 @ @
B @ 3 @ @O
< 6 @O 3 @
O @O @ & 6

28.

29.

Match List — I with List — II and
select the correct answer using the
code given below :

List -1 List - II
(a) Glucose (1) Muscle of
inspiration
(b) Haemoglobin (2) Cardiac

(c) Diaphragm (3) Blood sugar

(d Heart (4) R.B.C.
(5) Vital
capacity
Codes :

@@ b © @
A @ 6 @ O
B) 5 @O @ O
<© & @ @O @
O @O @ @ 3

Match List — I with List — II and
select the correct answer using the
code given below :

List-1
(a) Hinge joint (1)

List - 1I
Shoulder joint
(b) Pivotjoint  (2) Wrist joint

(c) Ball & . .
Socket joint (3) Vertebral joint
@ Gliding (4) Neck joint
Jjoint
(5) Elbow joint
Codes :

@@ () (© @
@A 6 @ @O @
B @O @ G &
o @ 6 @ O
O G @ @O @
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30.

31.

Match List — I with List — II and
select the correct answer using the
code given below :

List -1 List - II
(a) Three (1) Football
seconds
(b) Throw-in (2) Hockey
(c) Roll-in (3) Basket Ball
(d) Service (4) Badminton
(5) Cricket
Codes :

@@ b © @
@ @O @ 3 6
B @ @O @ 3
e & GO @ @
O @OH 2 & @

Match List — I with List — II and
select the correct answer using the
code given below :

List -1 List - 1I
(a) Psychology (1) Social
Traditions

(b) Philosophy (2) Infancy
(c) Sociology (3) Plato

(d) Idealism (4) Love of
Wisdom

(5) Behaviour
Codes :
@ b © @
@A 3 @ @ O
B @O @ & O
o @ & O O
M & @ @O 3

32,

33.

Match List — I with List — II and
select the correct answer using the
code given below :

List -1 List - I1
(a) 11-14 (1) Pragmatism
years of
age
(b) Years, (2) Childhood
months
and days
(c) John
Dewey (3) Puberty
(d) 0-8 years (4) Chronological
of age age
(5) Adolescence
Codes :

@@ b © @
@A 3 @ @O @
B @ 6 & @
e @O G @ @
™ 6 6 @ O

Match List — I with List — II and
select the correct answer using the
code given below :

List -1 List - I1
(a) Axon (1) Absence of
oxygen
(b) Anaerobic (2) Response to
stimulus
(c) Excitation (3) Sugar

(d) Glucose (4) Nerve fibre
(5) Muscle fibre

Codes :

@ () (© (@
@A @ & 3 @
B 2 3 & WD
© 3 6 @ @
O @ @O 2 3
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34.

3s.

Match List — I with List — II and
select the correct answer using the
code given below :

List -1 List - 11
(a) Electrogonio- (1) Spirometer
meter
(b) Lumbar (2) Determination
concavity of types of
muscle fibre
(c) Biopsy (3) Measurement
of joint angle
(d) Vital . (4) Lordosis
capacity
(5) Flexometer
Codes :

@@ b © @
@A @ @ 6 M
B) M & G @&
<© G @ @ O
O @ @O 3 @

Match List — I with List — II and
select the correct answer using the
code given below :

List -1 List - I1
(a) Flat foot (1) Mc Donald
(b) Kraus (2) Measuring
Weber Basketball skill
Test
(c) Soccer (3) Classifying
skill test groups
d) Johnson
@ skill est D) Pedograph
(5) Measuring
minimum
muscular strength
Codes :

@@ b © @
@ 6 @O @ 3
B @ & @O @
<© @ @O 3 6
O @ 3 @ @

36.

37.

38.

39.

Select the correct

overload symptoms

(A) Performance, Clinical, Psychic
Physiological

sequence of

(B) Physiological, Performance,
Clinical, Psychic
(C) Psychic, Physiological,

Performance, Clinical
(D) Clinical, Psychic,
Physiological, Performance

Select the correct sequence of

chronology  of  undermentioned

Olympic Games.

(A) Mexico, Munich, Montreal,
Moscow

(B) Moscow, Mexico, Munich,
Montreal

(C) Munich, Montreal, Moscow,
Mexico

(D) Montreal, Moscow, Mexico,
Munich

Select the correct sequence of

function of digestive system.

(A) Digestion, Absorption,
Defecation, Ingestion

(B) Absorption, Defecation,
Ingestion, Digestion

(C) Defecation, Ingestion,
Digestion, Absorption

(D) Ingestion, Digestion,
Absorption, Defecation

Select the correct

cognitive process :

(A) Perception,
memorising, sensation

(B) Sensation, perception, thinking
memorising

(C) Thinking, memorising,
sensation, perception

(D) Memorising,
perception, thinking

sequence of

thinking,

sensation,
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40.

41.

42.

Select the correct sequence

execution of running broad jump.

(A) Approach run, Take-off,
Flight, Landing

(B) Take-off, Flight, Landing,
Approach

(C) Flight, Landing, Approach,
Take-off

(D) Landing, Approach, Take-off
Flight

Make the correct choice from the
Assertion (A) and Reason (R) given
below :

Assertion (A) : Sports have
cultural values.
Reason (R) : The Ancient

Olympic games were held at
Olympia in Greece in the
honour of God Zeus.

Select the correct answer from the

codes given below :

Codes :

(A) Both (A) and (R) are true and (R)
is the correct explanation of (A).

(B) Both (A) and (R) are true, but
(R) is not the correct
explanation of (A).

(C©) (A)istrue, but (R) is false.

(D) (A)is false, but (R) is true.

Assertion (A) : Internal respiration
is the exchange of O, and CO,
at cell level.

Reason (R) : Oxygenated blood

leaves left ventricle through
aorta and comes back to right
auricle through vena cava. This
circulation is known as
pulmonary circulation.

Select the correct answer from the

codes given below :

Codes :

(A) Both (A) and (R) are true and
(R) is the correct explanation

of (A).

(B) Both (A) and (R) are true, but
(R) is not the correct
explanation of (A).

(C©) (A)istrue, but (R) is false.

(D) (A)is false, but (R) is true.
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43.

44.

45.

Assertion (A) : Plane moves around
the axis.

Reason (R) : There is not plane
without axis.

Select the correct answer from the

codes given below :

Codes :

(A) Both (A) and (R) are true and
(R) is the correct explanation
of (A).

(B) Both (A) and (R) are true, but
(R) is not the correct
explanation of (A).

(C©) (A)istrue, but (R) is false.

(D) (A)is false, but (R) is true.

Assertion (A) : Trial & Error
method of learning reduces the
span of learning.

Reason (R) : Thorndike
established the laws of

learning.
Select the correct answer from the
codes given below :

Codes :

(A) Both (A) and (R) are true and
(R) is the correct explanation
of (A).

(B) Both (A) and (R) are true, but
(R) is not the correct
explanation of (A).

(C©) (A)istrue, but (R) is false.

(D) (A)is false, but (R) is true.

Assertion (A) : A good teacher
always caters for the need of
learners.

Reason (R) Training differs

from education.
Select the correct answer from the
codes given below :

Codes :

(A) Both (A) and (R) are true and
(R) is the correct explanation
of (A).

(B) Both (A) and (R) are true, but
(R) is not the correct
explanation of (A).

(C) (A)is true, but (R) is false.

(D) (A)is false, but (R) is true.
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40. St ol FF A G TEl SFHA

41.

42.

T B

(A) THIE T, T 3, FES, wiveT
(B) 2 3w, FeTee, wifve, U
(C) TeATEe, wfveT, Ui, 3% 3
(D) wfoeT, unE, o 3, TR

e g1 e SR (A) 3R SHROT (R)

fea M § SR i o8 T el @ W IR

T H

sfirpe (A)
T EAE |

%HRT (R) : 7Y TSI3T9 & §HH |
UG § S § uri= ey
et ST ol T & |

e 52 T et | WEl ST A qIT R |

P :

(A)

TAl H D

(A) 3R (R) IHT ¥ & 3R (R),
(A) T eI FRATE |

(A) 3R (R) T 09 €, R (R),
(A) ! W& AT TR € |

(A) T &, R (R)STEAE |
(A) 39 §, <] (R) TAT |

(B)

©
D)

AMTHAT (A) ;SRS ITT HITITH
TR WO, #R CO, F fafma & |

HROT (R) 2 SRS T

HRTHEHT o S aTe Ferd | FHerdt
FR TEIIRT & SRS IS HoTehT
A 3T & | T8 TR0 GBI
GEROT FHEAT & |

T 2 T8 el | Wel I B 7T A

T

(A) (A) 3R (R) Al ¥ & 3R (R),
(A) T TE AT E |

(A) #R (R) THI ¥ § T (R),
(A) ! T&l AT TRl & |

(A) TF ¢, W< (R) 3AE |

(A) 3T &, R (R) THAE |

(B)

©
D)

J-47-11

13

43.

44.

45.

it (A)
g1
HRT (R) e % o W

TATA TR E |
e 2 T8 el | Wel I B 7T A
FH :

(=N

(A)

: THAA 3T WA

(A) 3R (R) IHT T € 3R (R),
(A) T TET FRATE |

(A) 3R (R) ST 09 €, R (R),
(A) ! T AT TET € |

(A) T &, R (R)STTAE |
(A) ST T, R (R) TAE |

(B)

©
D)

ANTHAT (A) @ STFTH AR F A
ygia oy & 3mafy faar i
FHFAE |

FHRUT (R) : iFerEs F AR &%
T Y T A |

e 52 T et | WEl ST A TIT R |

HE:

(A) (A) 3R (R) Al ¥4 & 3R (R),
(A) T TE AT E |

(A) ¥R (R) M1 & €, W (R),
(A) ! T&l AT TRl & |

(A) T €, R (R)STTAE |

(A) A E, R (R) TIAE |

(B)

©
D)

ANBAT (A) @ IS ITATYH THI
SIS Sl I I G Il
Tl

HIT (R)
T

T 52 T et | WEl ST A qIH L |

% :

(A)

s TTRTRTOT fYteT 9 R

(A) 3R (R) IHT I & 31 (R),
(A) I TET AT E |

(A) &R (R) I ¥ €, T (R),
(A) ! T AT TET € |

(A) T &, R (R)STTAE |
(A) 3T §, R (R) TAE |

(B)

©
D)
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46.

47.

48.

Assertion (A) :  Circuit training
improves general physical and
motor fitness.

Reason (R) : Speed is improved
by interval training method.

Select the correct answer from the

codes given below :

Codes :

(A) Both (A) and (R) are true and
(R) is the correct explanation
of (A).

(B) Both (A) and (R) are true, but
(R) is not the correct
explanation of (A).

(C) (A)istrue, but (R) is false.

(D) (A)is false, but (R) is true.

Assertion (A) : A test is valid
when it measure what is
proposed to measure.

Reason (R) : Weighing machine
measures weight of an object.

Select the correct answer from the

codes given below :

Codes :

(A) Both (A) and (R) are true and
(R) is the correct explanation
of (A).

(B) Both (A) and (R) are true, but
(R) is not the correct
explanation of (A).

(C) (A)istrue, but (R) is false.

(D) (A)is false, but (R) is true.

Assertion (A) : Mechanical energy
of Class I level can be obtained
in form of balance, speed and
power.

Reason (R) : Power arm and

resistance arm of Class I lever
cannot be changed even by
manipulating  position  of
fulcrum.
Select the correct answer from the
codes given below :

Codes :

(A) Both (A) and (R) are true and
(R) is correct explanation of
(A).

(B) Both (A) and (R) are true, but
(R) is not the correct
explanation of (A).

(C) (A)istrue, but (R) is false.

(D) (A)is false, but (R) is true.

49.

50.

Assertion (A) : Blocking of goal
leads to frustration.

Reason (R)

unrealistic goal.

: It is wise to set

Select the correct answer from the

codes given below :

Codes :

(A) Both (A) and (R) are true and
(R) is the correct explanation
of (A).

(B) Both (A) and (R) are true, but
(R) is not the correct

explanation of (A).
(A) is true, but (R) is false.
(A) 1s false, but (R) is true.

©
D)

Assertion (A) : India

silver medal in Hockey in

secured

Moscow Olympic Games.

Reason (R)
leading

: Almost all the

playing
countries boycotted the games.

Hockey

Select the correct answer from the

codes given below :

Codes :

(A) Both (A) and (R) are true and
(R) is the correct explanation
of (A).

(B) Both (A) and (R) are true, but
(R) is not the correct

explanation of (A).
(A) is true, but (R) is false.
(A) 1s false, but (R) is true.

©
D)
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47.

48.
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e 52 T et | WEl ST A qIT R

%<

o

(A)

(B)

©
D)

(A) 3R (R) THT T € 3R (R),
(A) ! T&l AT E |

(A) 3R (R) 31 IF & I (R),
(A) & T AT TR & |

(A) TF &R (R)ITTHTE |

(A) 38§ T (R) §F % |

(B)

©
D)

atﬁmwr(A) ¢ TIY FUT % ST
Fitreh 39N Hed, Ta 3R
W%wﬁw%wm%
#HROT (R) : U O % ST
H T ST SR T ST R
W(W)ﬁf@ﬁﬁw
?Wﬁwﬁww

|
T <2 T8 el | Wel I H 7T A

%< :

a

(A)

(A) 3R (R) IHT T € 3R (R),
(A) T eI FRATE |

(A) 3R (R) T 9 € IR (R),
(A) T TE AT TET € |

(A) T § R (R)ITAE |

(A) 39 § T (R) §AE |

(B)

©
D)
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49.

50.

AMHAT (A) : T WIT § 3a)g
AT T 3 S HLATR |

HRT (R) G o | r3 | oo A D)
FEAT fT@aHYOT ¢ |
e 2 T8 el | Wel I H 7T A

%<

(=N

(A) 3 (R) SHT T € 3R (R),
(A) T TET FRATE |

(A)

(A) 3R (R) 3 IF & I (R),
(A) I TE AR TETE |

(B)

(C) (A) TFE RS (R)FIAE |

(D) (A) 3T & W] (R) TAE |

AT (A) ORG H AR
AT AT H Bkt H Io7d HeeA
S |

%HRT (R) : U bt el ared

[ A T oepier 3 el @
e TR |
e <2 T8 el | Wel I B 7T A

T

(=N
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(A) T TE AT E |

(A)

(A) &R (R) THI & & ] (R),
(A) ! T&l AT TRl & |

(B)

(C) (A) TFE RS (R)FIAE |

(D) (A) FFF & R (R) TAE |
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